




Basically some debris moving near light speed is slowed down by 1 to 5% by 4 jedi



Calc redone sorta

Moon diameter is 3474.8 kilometers
Moon volume: 21,967,875,613,287,872,316 m^3
Moon crust is around 50 kilometers thick so moon diameter without crust is 3424.8 kilometers
Moon volume without crust: 21,033,147,468,647,278,213 m^3
Crust volume: 934728144640594103 m^3
Would’ve been vaporized so 25700 j/cc
KE1 of ship: 24022513317263268447100000000 joules
KE1 = 0.5 * m * v^2
KE2 = 0.5 * m * (0.99v)^2
KE2 = 0.5 * m * 0.9801v^2
KE2 / 0.9801 = 0.5 * m * v^2
KE2 / 0.9801 = KE1
KE removed = KE1 * (1 - 0.9801) = 478048015013539042097290000 joules
/3 = 1.5935e26 joules, 38.08 petatons of TNT per Jedi


